MIAM IDADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Weather Shield Windows & Doors
One Weather Shield Plaza
Medford, WI 54451

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series “Legacy” 2-1/4” Contempra Aluminum Clad Outswing Wood French Door

APPROVAL DOCUMENT: Drawing No. 1211, titled “Legacy Aluminum Clad Outswing French Door”, sheets
1 through 8 of 8, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated 2/20/03 with revision “A” on
05/28/04, signed and sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Revision
stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control
Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer’s name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 03-0421.11 consists of this page 1 and evidence pages E-1, and E-2, as well as approval
document mentioned above.

The submitted documentation was reviewed by Herminio F. Gonzalez, P.E., Director, BCCO

NOA No 04-0630.03

Expiration Date: July 17, 2008
Approval Date: September 09, 2004
Page 1




Weather Shield Windows & Doors

A.

B.

C.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1.
2.

Manufacturer’s die drawings and sections.

Drawing No. 1211, titled “Legacy Aluminum Clad Outswing French Door”, sheets 1
through 8 of 8, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated
2/20/03 with revision “A” 05/28/04, signed and sealed by Warren Schaefer, P.E.

TESTS

1.

Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of a wood French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCWI02016 dated
10/21/02, signed and sealed by Derrick Swanson, P.E.
“Submitted under NOA # 03-0421.11”
Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a wood French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCWI102013 dated
8/20/02, signed and sealed by Derrick Swanson, P.E.
“Submitted under NOA # 03-0421.11”
Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of a wood French door,
prepared by Stork Twin City Testing Corporation, Test Report No. TCTCWI102021
dated 11/10-13/03, signed and sealed by John D. Lee, P.E.

CALCULATIONS

1.

Anchor Calculations and structural analysis, prepared by W.W. Schaefer Engineering
& Consulting, P.A., dated 03/27/03, signed and sealed by Warren Schaefer, P.E.
“Submitted under NOA # 03-0421.11”

Nl

U/ ,.q ~ Herminiof. Gonzalez, P.E.
Director, Building Code Compliance Office
NOA No 04-0630.03

Expiration Date: July 17, 2008
Approval Date: September 09, 2004

E-1



Weather Shield Windows & Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. Anchor Calculations, ASTM-E1300, and structural analysis, prepared by W.W,
Schaefer Engineering & Consulting, P.A., dated 06/16/04, signed and sealed by
Warren Schaefer, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 01-0205.02 issued to Cardinal LG for “Saflex / Keepsafe
Maximum” dated 5/17/01, expiring on 5/21/06.

F. STATEMENTS

1. Statement letter of conformance, dated 3/31/03, signed and sealed by Warren
Schaefer, P.E.
“Submitted under NOA # 03-0421.11”’

2. Statement letter of no financial interest, dated 3/31/03, signed and sealed by Warren
Schaefer, P.E.
“Submitted under NOA # 03-0421.11"’

3. Statement letter of conformance and no financial interest, dated 06/16/04, signed and
sealed by Warren Schaefer, P.E.

G. OTHER
1. Letter from the consultant stating that the product is in compliance with the Florida
Building Code (FBC).

2. Notice of Acceptance No. 03-0421.11, issued to Weather Shield MEG, Inc., Series
“Legacy” 2 ¥ “Contempra Aluminum Outswing French Door”, approved on 07/17/03
and expiring on 07/18/08.

(/d Hermifiio F. Gonzalez, P.E.
Director, Building Code Compliance Office
NOA No 04-0630.03
Expiration Date: July 17, 2008
Approval Date: September 09, 2004

E-2



CHECKED BY:

GENERAL NOTES

EXTERIOR ELEVATION

DOUBLE RECTANGULAR OUTSWING DQOR

SCALE: 3/4" = 1'-0"

1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR DESIGN
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN LOADS” TABLE.
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED &
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.

3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & MAY
NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS.

4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED &
PROPOSED FOR WATER, AR, IMPACT, CYCUC & UNIFORM STATIC AIR PRESSURE TESTING
IN CONFORMANCE WITH FLORIDA BUILDING CODE PROTOCOLS TAS-201, 202 & 203 FOR
LARGE MISSILE IMPACT DOORS.
5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH THE FLORIDA
BUILDING CODE (F.B.C.) FOR HIGH VELOCHY HURRICANE ZONES (HVHZ).

6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE DOORS.

7. ALL-ANCHORS SHALL BE INSTALLED AS SPECIFIED ON THESE DRAWINGS. SPECIFIED
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.

42 3/8" MAX.

FRAME ANCHOR REQUIREMENTS TABLE

OPENING TYPE JAMB TO OPENING MINIMUM | MINIMUM

(SUBSTRATE) FASTENER TYPE EMBEDMENT | EDGE DIST.
2X_ WOOD FRAME OR BUCK| NO. 10 SMS SCREW | 1 1/4 3/4"

CMU,/CONCRETE 3/16" CONCR. SCREW | 1 1/4" 2

CONCRETE SCREWS SHALL BE ITW RAMSET/RED HEAD TAPCONS,
ELCO TAPCONS, HILTI KWIK—CON It OR POWERS RAWL TAPPER

(HARDENED STEEL OR S.S.).

PLATE

EXTERIOR ELEVATION

. TYPICAL FRAME- SCREWS. PLACE ONE AT EACH
. 83 1/4" MAX. FRAME WIDTH (F.W.) HEAD JAMB CORNER, 3 AT HEAD MIDSPAN & = FRAME WIDTH (FW.) ~ ]
6" MAX | o e B 2 THRU STRIKE PLATE WITH DOORS 74" X 29 /B 8" MAX
(TvP.) ’_-! @ H%%H@ —/‘Zé 98" & SMALLER. 5 AT HEAD MIDSPAN & 2 STRIKE @ @ ”‘: (TYP.)
N THRU STRIKE PLATE WITH DOORS LARGER N\ Y .
e e e e e L1\ THAN 74" X 96" (50 SQ. FT.) SEE "FRAME = 7 = hoomic NAL o8 Ko,
: L7 ~] | ANCHOR REQUIREMENTS TABLE” ON THIS L) \ 7 X 1 5/8" DRYWALL
4 — SHEET FOR OTHER FASTENER REQUIREMENTS. RILEN . S OREWS SPACED AS
SEE "CORNER . . _/ REQUIRED TO SECURE
% STRIKE | \ CONSTRUCTION" 11 GA. X 1 1/2" ROOFING ' || \SEE "CORNER . & SEAL NAILING FIN
PLATE NOTE ON SHEET 2. NAILS OR NO. 7 X 1 5/8" I CONSTRUCTION
/ \ DRYWALL SCREWS SPACED 4o NOTE ON SHEET 2.
3738(3940) Yz, 74 AS REQUIRED TO SECURE & | Y
HINGE/ / e SEAL NAILING FIN 12" 0. I | / \ NO. 10 S.S. WOOD
| PANEL MAX I\ 37383949 SCREW OR MiN. 3/16"
L TN NO. 10 S.S. WOOD SCREW OR | HINGE CONCRETE SCREW (2
INACTVE MIN. 3/16" CONCRETE SCREW (2 \ PER HINGE INTO
~ / e \ PER HINGE INTO SUPPORTING ~ | ACTIVE \ SUPPORTING
=S HARDWARE SUBSTRATE). SEE "FRAME =9 L SUBSTRATE). SEE
s 3 / STRIKE N\ ANCHOR REQUIREMENTS” TABLE s 5 S%ﬁ( - : HARDWARE \ "FRAME ANCHOR
= ON THIS SHEET FOR GTHER = REQUIREMENTS” TABLE
bQIJ e INACTIVE ACTIVE FASTENER REQUIREMENTS. oz "MEL ON THIS SHEET FOR
Don () (0 (ETYEN 2 = (VD REQUIREVENTS.
w 2 6 > N > NG NO. 10 SCREWS 6" MAX. FROM w 2 I I~ NG REQ :
S A ® (42  oppostE CORNERS & 12" MAX. 0.C. (ONLY = > Al OPPOSITE
e~ G ATTIVE REQUIRED WITH DOORS TALLER THAN - l 42
< 5 NANDLE HANDLE 98” AND/OR WIDER THAN 74”) % 5 ACTIVE )
: - \ INJJEH) L - . HANDLE Vs NO. 10 SCREWS 6" MAX.
5 | TYPICAL FRAME SCREWS INTO SUBSTRATE. = | I v OCgR'ngEY& 12
S N30 1/16" é PLACE ONE AT EACH SILL CORNER, 3 AT & 30 1/16"/ REQUIRED AT HINGE SIDE
T MAX. D.LO. 1 SILL MIDSPAN & 3 THROUGH STRIKE PLATE | MAX. D.LO. 1 RE TQH R e T LiR
WITH DOORS 74" X 98" & SMALLER. 5 AT
N\ ' %/ THAN 98" AND/OR WIDER
SILL MIDSPAN & 3 THRU STRIKE PLATE ] | TN 30 3764
\ WITH D()JORS LARGER THAN 74" X 98" (50 0 /
SQ. FT.) SEE "FRAME ANCHOR -
\/ REQUIREMENTS TABLE” ON THIS SHEET FOR 33 | / / &*’B'gTAF’EATFgAggSI%F&EE%S A'g‘TO
OTHER FASTENER REQUIREMENTS Hijes | / SHOWN. SEE "FRAME ANCHOR
(APPLICABLE WITH BUMPER THRESHOLD. | SEQUIREMENTS TABLE” ON
FOR ADA THRESHOLD CONDITION, SEE "ADA i
SILL’ DETAIL” ON SHEET 7) / THIS SHEET FOR OTHER
S@;\\ /) — | FASTENER REQUIREMENTS.
. PLATE «~NAILING FIN IS OPTIONAL & MAY BE SCORED —] .
l = — Ii/i i = }/-AND REMOVED WHEN REQUIRED FOR A DIRECT I .,!I TL |
" MOUNT CONDITION. (NAIL FIN SHALL NOT ACT  g» \
3" MAX, _’ . q bbbt 4 AS A SUBSTITUTE FOR THE FRAME SHEAR G(TY“:'DA;“ = 4 g —| 3 MAX
(TYP.) PSS SCREWS SPECIFIED) ' STRIKE (TYe.)

SINGLE RECTANGULAR OUTSWING DOOR

*SHEAR SCREW ANCHOR NOTE: FRAME MAY EE EITHER DIRECT MOUNTED TO THE
OPENING, MOUNTED ONTO A CONTINUOUS SPACER, OR ANCHORED TO A MIN.
2x4 NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO A 2x4 BUCK,
NO. 10 SCREWS SHALL BE USED. WHEN DIRECT MOUNTED OR MOUNTED WITH

SPACER, 3/16" CONCRETE SCREW SHALL BE USED. SEE "FRAME ANCHOR

REQUIREMENTS TABLE" FOR EMBED REQUIREMENTS. PROPER MATERIAL SHALL BE
USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM).

SCALE: 3/4" = 1'-0”

ALLOWABLE DESIGN LOAD

SEE SHEET 2

HINGE REQUIREMENTS

DOOR HEIGHT # HINGES REQ'D

ALL SIZES 4

Ifamm B

W.WS.

5
g

i
-
-

DATE:
02/20/03

DATE

BY
K.P.S. | 05/28/04

REVISION DESCRIPTION

TO ALLOW LARGER DOCORS

Al |REVISEC DIMENSIONS & NOTES

NO.

WEATHER SHIELD WINDOWS & DOORS
ONE WEATHER SHIELD PLAZA

MANUFACTURER

MEDFORD, Wi 54451
715—-748—-6555

LEGACY ALUMINUM CLAD OUTSWING FRENCH DOORS

{TLE

& CONSULTING, P.A.

8895 N, MILITARY TRAIL; SUITE C—204

AWIN
W. W. SCHAEFER ENGINEERING

CONSULTANTS

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CERTIFICATION
04

JUN 25

SCHAEFER, P.E.
.E. NO. 44135

W.

DRAWING. NO.

1211

ot
>0} WARR

SHEET NO.

1 or 8




83 1/4" MAX. FRAME WIDTH (F.W.) TYPICAL FRAME SCREWS. PLACE 42 3/8" MAX. .
[ ONE AT EACH HEAD JAMB ) FRAME WIDTH (F.W.) —__ | 6 MAX
6" MAX. @ CORNER, 3 AT HEAD MIDSPAN (Typ.)
= 5 5 & 2 THRU STRIKE PLATE WITH 5
(ve.) t& — H-lHk A~ | DOORS 74" X 98" & SMALLER. et
| P —— ., , > N
TR SWANR Lt © o x
- HRU S N\ MAX. \
' % 5\ M. DOOR;S LARGER ;HAN 74" X 2802'“?( TA'é%?R
4 | 98" (50 SQ. FT.) SEE "FRAME % -
STRIKE % ANCHOR REQUIREMENTS TABLE" STzR?KE r/ // SEE "CORNER— Ih_ DRYWALL SCREWS :
PLATE ., ON SHEET 1 FOR OTHER ME : CONSTRUCTION" SPACED AS REQUIRED
/ SEE "CORNER FASTENER REQUIREMENTS. ’ ’ N NOTE. ON L%USNEgUF[TE & SEAL
CONSTRUCTION" NOTE \ THIS SHEET
, .... ON THIS SHEET. " Al
(8949 / I 1N1\:L%A'oé rLo?/72 xR?O5H/N8§' 4 I @@@@ NO. 10 S.S. WOOD SCREW
ACTIVE \ DRYWALL SCREWS SPACED 12" o U PANEL O\ TINGE OR MIN. 3/16" CONCRETE
INACTIVE PANEL ‘ AS REQUIRED TO SECURE & : [ LOCK | SCREW (2 PER HINGE
~ ook ALK N SEAL NAILING FIN = g TN reomee N INTO SUPPORTING
I . I (@) »,
L O / HARDWARE v | N SUBSTRATE). SEE "FRAME
~ -33) N = a | 7T ANCHOR REQUIREMENTS
e ° INACTIVE sike  (ACTIVE £ o | STRIKE TABLE ON SHEET 1 FOR
o X PLATE | © I | PLATE | OTHER FASTENER
o < . NO. 10 S.S. WOOD SCREW OR b= = - /ETVED . REQUIREMENTS
T = L D (CTYT2Y MIN. 3/16" CONCRETE SCREW (2 T 5 554 TN, > '
Y % > &/ = \EAE/ ~ PER HINGE INTO SUPPORTING s < I oS |
A @ (42)  opeosTE | SUBSTRATE). SEE "FRAME £ w0 A -
o INAGTVE ACTIVE ! ANCHOR REQUIREMENTS” TABLE "" _ I | ACTIVE , NO. 10 SCREWS 6" MAX.
X 2 NANDLE HANDLE ON SHEET 1 FOR OTHER X S HANDLE / FROM CORNERS & 12"
= N\ . L / : FASTENER REQUIREMENTS. = : A g MAX. 0.C. (ONLY
: rNO. 10 SCREWS 6 | 5 | k Y | REQUIRED AT HINGE SIDE
N & 12° MAX. O.C. TYPICAL FRAME SCREWS INTO M MAX. D.LO THAN 98" AND/OR WIDER
(ONLY REQUIRED WITH -/ SUBSTRATE. PLACE ONE AT EACH SILL | wr THAN 37 3/4%)
DOORS TALLER THAN 36 CORNER, 3 AT SILL MIDSPAN & 3 /
98” AND/OR WIDER / THROUGH STRIKE PLATE WITH DOORS - / l
THAN 747) '\ / 74" X 98" & SMALLER. 5 AT SILL l
30 1/16" STRKE MIDSPAN & 3 THRU STRIKE PLATE WITH s /
MAX. D.L.O. // DOORS LARGER THAN 74" X 98" (50 , / TYPICAL FRAME SCREWS INTO
/ SQ. FT.) SEE "FRAME ANCHOR Ll SUBSTRATE POSITIONED AS
l REQUIREMENTS TABLE” ON SHEET 1 B SHOWN. SEE “FRAME ANCHOR
FOR OTHER FASTENER REQUIREMENTS REQUIREMENTS TABLE” ON
_ PLATE ] FOR ADA THRESHOLD CONDITION, SEE . FASTENER REQUIREMENTS.
Ll N7 | "ADA SILL DETAIL” ON SHEET 7). | il
I [ 11 I I \ /6" MAX. I 4
3" MAX, 1"‘ q Jde b L} 4 NAILING FIN IS OPTIONAL & MAY (TYP.) 3" MAX.
(TYP.) 37 7 el BE SCORED AND REMOVED WHEN S — (TYP.)
DXIEROR. ELFVATON O T T O % pxaeon 6 vt
DOUBLE EYEBROW TOP OUTSWING DOOR ACT AS A SUBSTITUTE FOR THE SINGLE EYEBROW TOP_OUTSWING DOOR
SCALE: 3/4" = 1'-0" FRAME SHEAR SCREWS SPECIFIED) SCALE: 3/4" = 1'-0"
ALLOWABLE DESIGN LOAD (PSF)
SINGLE DOORS WITH
MAX. F.H, = 98" & 1+60/-75 PRODUCT REVISS
FRA Ti MAX. FW. = 37 3/4" &5 cond
AT EACH RECTANGULAR DOOR HEAD CORNER AND ALL SIDELITE CORNERS, THE WOOD FRAME MEMBERS ARE DADO CUT, GLUED, PLACED TOGETHER AND MECHANICALLY
FASTENED WITH (3) #8 X 2 1/2" LONG DRYWALL SCREWS. SINGLE DOOQRS WIT"H F.H.
AT EACH DOOR SILL CORNER, THE WOOD FRAME MEMBERS ARE SQUARE CUT, SEALED WITH A GASKET & SILICONE ON THE INTERIOR AND SECURED WITH (3} 2 1/2" GREATER THAN 98" OR F.W.| +60/-60
DRYWALL SCREWS. A 3/4" HIGH OAK THRESHOLD IS SEALED TO THE SILL WITH SILCONE BACK BEDDING AND SECURED WITH SCREWS TO THE WOOD SUB-SILL. GREATER THAN 37 3/4
AT EACH DOOR SILL CORNER WITH ADA SILL, THE WOOD FRAME MEMBERS ARE SQUARE CUT AND MECHANICALLY FASTENED WITH (2) #9 X 2" LONG FLATHEAD SCREWS. DOUBLE DOORS WITH
THE ALUMINUM FRAME CLADDING MEMBERS ARE MITER CUT AND MECHANICALLY FASTENED TOGETHER USING (1) 1 1/4” SCREW OR (1) #6 X 1" LONG SCREW WITH #5 MAX. FH. = 98" & +60/-75
HEAD AT EACH CORNER. MAX. FW. = 74"
SASH_CORNER_CONSTRUCTION H.
%TASETCHC(?ORRNERRTHEOWOSOER LSJA%.II-I' MbéMBER ENDS ARE SQUARE CUT, SEALED WITH A SINGLE BEAD OF SILICONE, WOOD GLUED TO THE WOOD JOINT SURFACES AND gggAB'll:[ER D-l%(;);;\ls g\gl’-’rHORF ]; W.l +60 /__ 60
SECURED WITH 3/4” DIA. X 3" LONG DOWELS, (2) PER TOP CORNER & (4) PER BOTTOM CORNER, GREATER THAN 74" s
THE ALUMINUM MEMBERS ARE SLIP FITTED TO THE ADJACENT PANEL MEMBER AT EACH CORNER.

DRAWN BY:
K.P.S.

CHECKED BY:
WW.S,

PLOT:
1=16

DATE:
02/20/03

DATE

BY

REVISION DESCRIPTION

NO.

MANUFACTURER

715—-748—-6555

ONE WEATHER SHIELD PLAZA
MEDFORD, WI 54451

WEATHER SHIELD WINDOWS & DOORS

ALUMINUM CLAD FRENCH QUTSWING DOORS

DRAWING TITL
CONSULTANTS

PALM BEACH GARDENS, FL 33410
PHONE: 561~775-4802 FAX: 561-775-4303

& CONSULTING, P.A.
8895 N. MILITARY TRAIL; SUNE C—204

W. W. SCHAEFER ENGINEERING

b

CERTIFICATION
JUN 25 21

= BRAWNG NO. TREV. |
1211

. SCHAEFER, P.E.
E. NO. 44135

SHEET NO.

2 o 8




136 7/8" MAX. OVERALL HEIGHT

—]

PER WINDOW APPROVAL

FIXED TRANSOM WINDOW (SEE DRAWING NO.

74" MAX. FRAME WIDTH (F.W.)

1210, 1071 OR 1072 UNDER SEPARATE
APPROVAL FOR DETAILS.)

2" X 5" X 1/8"
6063—T5 ALUMINUM
TUBE MULLION (REF.)
SEE MULLION END CLIP

DETAIL ON THIS SHEET

NO. 10 SMS FRAME SCREWS
(ONE AT EACH HEAD JAMB
CORNER, 3 AT HEAD MIDSPAN
& 2 THRU STRIKE PLATE INTO
MULLION TUBE)

. MAX. FRAME HEIGHT (F.H.)

120" MAX. FRAME HEIGHT (FH)

101 15/16" MAX. D.L.O.

/~FRAME ANCHORS

/

(SEE ELEVATION
ON SHEET 1)

/
/

INACTIVE

&

25 7/16"

MAX. D.L.O.

\\%

STRIKE \
PLATE

ON THIS

d

SEE "MULLION—"
\END CLIP DETALL"

SHEET.

TYPICAL FRAME SCREWS (2 EACH
SIDE OF MULLION) SEE "FRAME
ANCHOR REQUIREMENTS TABLE"
ON SHEET 1 FOR OTHER
FASTENER REQUIREMENTS)

11 GA. X 1 1/2" ROOFING
NAILS OR NO. 7 X 1 5/8"
DRYWALL SCREWS SPACED
AS REQUIRED TO SECURE &
SEAL NAILING FIN

NO. 10 S.S. WOCD SCREW OR
MIN. 3/16" CONCRETE SCREW
(2 PER HINGE INTO SUPPORTING
SUBSTRATE). SEE "FRAME
ANCHOR REQUIREMENTS” TABLE
ON SHEET 1 FOR OTHER
FASTENER REQUIREMENTS.

TYPICAL FRAME SCREWS INTO
SUBSTRATE (ONE AT EACH SILL
CORNER, 3 AT SILL MIDSPAN & 3
THROUGH STRIKE PLATE) SEE
"FRAME ANCHOR REQUIREMENTS
TABLE" ON SHEET 1 FOR OTHER
FASTENER REQUIREMENTS

(APPLICABLE WITH BUMPER
THRESHOLD.
CONDITION, SEE "ADA SILL DETAIL”
ON SHEET 7).

(SEE DOUBLE RECTANGULAR OUTSWING DOOR ELEVATION FOR DETAIL NOT SHOWN)

— L
I

EXTERIOR ELEVATION

DOUBLE RECTANGULAR OUTSWING DOOR
WITH TRANSOM

SCALE: 3/4" = 1'-0"

-‘\
NAILING FIN IS OPTIONAL &

3" MAX. MAY BE SCORED AND
(TYP.) REMOVED WHEN REQUIRED
FOR A DIRECT MOUNT
CONDITION. (NAIL FIN SHALL
NOT ACT AS -A SUBSTITUTE
FOR THE FRAME SHEAR
SCREWS SPECIFIED)

|

98" MAX. FRAME HEIGHT (F.H.)

FRAME WIDTH (F.W.)
12.5"

37" MAX.

79 15/16" MAX. D.L.O.

%

SEE "CORNER
CONSTRUCTION"
NOTE ON SHEET 2.

QPPOSHE

6" MAX.
(Tvp) ~

q

SIDELITE
SCALE: 3/4” = 1'-0"

MULLION END CLIP 20 GA. (0.034")

1,

FOR ADA THRESHOLD X 1.5 X MIN. 5.5” LONG (MIN.
33 KSI GALVANIZED STEEL)

=

EXTERIOR ELEVATION —

11 GA. X 11/2"
ROOFING NAILS OR NO.
7 X 1 5/8" DRYWALL
SCREWS SPACED AS
REQUIRED TO SECURE
& SEAL NAILING FIN

NAILING FIN IS OPTIONAL
& MAY BE SCORED AND
REMOVED WHEN REQUIRED
FOR A DIRECT MOUNT
CONDITION. (NAIL FIN
SHALL NOT ACT AS A
SUBSTITUTE FOR THE
FRAME SHEAR SCREWS

SPECIFIED)

TYPICAL FRAME SCREWS
INTO SUBSTRATE
POSITIONED AS SHOWN.
SEE "FRAME ANCHOR
REQUIREMENTS TABLE”
ON SHEET 1 FOR OTHER
FASTENER REQUIREMENTS.

3" MAX.

(TYP

2” X 5” X 1/8”
TUBE MULLION (MIN.
6063-T5 ALUMINUM)

)

#7 X 3/4" 11 GA. X 1 1/2"
PH SMS L 7 ¥ Roorne NAL (2
(4 PER cup)<§ | / PER CLIP)
I S //—MIN. 2X4 P.T. PROBUCT REVISED
WOOD BUCK
3/8" MAX. J ¢ BY OTHERS ~ puldiag

MULLION END CLIP DETAIL
(APPLICABLE TO ELEVATION ON
THIS SHEET ONLY)
SCALE: 1/4 FULL

IDRAWN BY:

CHECKED BY:

K.P.S. W.W.S.

FLOT: DATE:
1=18 02/20/03
=
3
>
m
z
o
z
[i4
Q
o
Lt
(=]
b4
<]
12]
I
[i4
g
Z
[%2]
14
3
<C
a N
8 3
b
n o)
Z 9%
O W
o F_©
[7)] r4 m?og
x|l = s
o [t PN
o] 0o Up
o - IO |
Tt
) I WO~
= T
AN
= B =z
2k o
Q |I=
)
I (Y
O S =
=z <
id =
14 "
[ % g
-
2| 2 5
ol . oEh
C M-
ZQ_': I
| 8% 52
S| Z,.:%"%
z WO Jag
— ZéZ
= 0= .—gﬂ
2 E_l ,_gg
2| L@ ESy
<=z 55o
] IQ Eﬁi'r:
= 200 o
20 2.5
- 0 J
2 5’;"’3 %553
= o o 2
s |6 @
& o= T
ui
o
S B
== 3
S SN |Ee
Tl 2
%N i
ol=z é
: %
= E:
_._—_'
DRAWING NO. JREV. '
SHEET NO.
J or 8




i

NOTE: OXXO DOOR SHOWN.

ALL OTHER 4—PANEL CONFIGURATIONS OF SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY.

ORAWN BY:

CHECKED BY:

B 149 1/2" MAX. FRAME WIDTH (F.W.) NOTE: TRANSOM s " Vs
e e e —j,—g(')m[’s?g"fo"g’*ﬁp M
,\f I— FIXED TRANSOM WINDOW (SEE DRAWING NO. FIXED TRANSOM WINDOW (SEE DRAWING NO. P | TO 4 WINDOWS | 2" X 2" X 4" MULLION ¥
< 1210, 1071 OR 1072 UNDER SEPARATE 1210, 1071 OR 1072 UNDER SEPARATE END CLIP (1/8
LE APPROVAL FOR DETAILS.) APPROVAL FOR DETAILS.) | ‘ 6061-T6 ALUM. OR 12 N
3 NO. 10 SMS 2" X 5" X 1/4" A46 STEEL TUBE MULLION GA. GALV. STEEL .
oo FRAME SCREwS  NO. 10 SMS FRAME SCREWS AT ' l ]
L z
. INTO MULLION DOUBLE DOOR. PLACE ONE AT | ' g
B INTO MULLION EACH HEAD JAMB CORNER, 3 TYPICAL FRAME SCREWS (POSITIONED AS SHOWN . & %
=2 CORNERS & Max. AT HEAD MIDSPAN (5 AT WITH 3 EACH SIDE OF MULLION) SEE "FRAME ! I T—L— :
= 125" 0.C. AT MDSPAN IF DOOR IS WIDER ANCHOR REQUIREMENTS TABLE” ON SHEET 1 1.5 g
o s . THAN 74”) & 2 THRU STRIKE FOR OTHER FASTENER REQUIREMENTS) | ) 43 b 4 g
e PLATE INTO MULLION TUBE. \ 3 f z
= SINGLE DOORS 3 @ EAE A O 3 | & i
‘ *!L‘T_:—__gz__'__-—'_——:_—___—“‘__—_ =t I = *“‘7— Tt et T - = 3 i _4} g
T - I | 1/2" | |-
TUBE MULL 0
,/ \\/ J,/u // \ ) {l 210. 14 SMS) (REF.) §
() ! 3 2 PER CLIP)—~_- - <
// y // \\ STRKE ¢ ! ' // SEE "MULLION—/ N 1/4" X 1. 3/4° Z 3
ADDITIONAL FRAME / 7 END CLIP DETALL" | gggg\ﬁgm T
= SCREWS INTO MULLION Y 74 ' ON THIS SHEET. . ek oLP) Q a¥y
L% (2 ADDITIONAL EACH @@@@ \ \__2 SCREWS PER HINGE . 1 ! . 8 Elﬂg
L SIDE OF MULLION ANGE e\ 0 PENETRATE owl 2581
= CT)ERS’;JMG;) THICK™ SECTION NACTVE PANEL MULLION TUBE WALL | & 2 egy
e O LOCK HAROWARE (TYP. EACH HINGE) 8 = ES )
2 / X HARDWARE \ O f TO CONCRETE OR CONCR. FILLED BIOCK || | £ 35
> »” (73] 48]
x T o 11 GA X 1 1/2 X \ ‘ \ TUBE MULL 2 =g
2 L ROOFING NAILS OR NO / STRIKE \ | 12 0C. | \ vS (REF.) AN
< 5 : PLATE . 0. 14 'S . = z
o © 7 X 1 5/8" DRYWALL INACTIVE ACTIVE MAX. PER GLIP - SEE DS
N oE (2 ) No. 12 sMs [ © |2
woE % SCREWS SPACED AS N \ | i N 2 )
- &z 2" X 5" X 1/8 T : X1 1/2 -« EY
n REQUIRED TO SECURE & oIz
. 6063-T5 ALUMINUM (3 PER CLIP) 2
& SEAL NAILING FIN | 19" 0.0 > |2
Y = @ L /D TUBE MULLION \ oL @__ Pl E
Z D ~ ~ w v . , ~ Ly e o 3
o — @ I - > 2
e i OPPOSITE » al £ 3_17
x 2 ACTIVE R E éé :\A/Af( —f Sy ¥2R
< ADDITIONAL SILL ANCHORS INACTIVE HANDLE . ' ol W< B
= N\ HANDLE — P / | TYPICAL SILL 2% pRs
- THROUGH THICK SECTION Ll 7 ancroRs. INTo [ =| g™ &k
i SUBSTRATE (2 ADDTIONAL _—_ S e | Towoo
2 o .8
EACH,SIDE OF MULLON). MY, D.LO. w /0 ELEVATIONS e o nuon | 2| BB
. z 339
REQUIREMENTS TABLE” / - | FRAME ANCHORS | ON THIS SHEET ONLY) 4 |58 280
FOR OTHER FASTENER \ INTO MULLION MULLION END CLIP NOTES: l" 2V o3k
?TE%U;REMENTS' % BT o/ PLATE /// (REF. SECTION "J") - 1. CLIPS MAY BE PLACED IN OR OUT-SIDE ; 3> &4
: v OF TUBE. g |8= &
] X avy | 2. SUPPORTING SUBSTRATE MUST BE
/ ‘ : DESIGNED BY OTHERS TO SUPPORT X
|
_ PANEL PANEL N\ PANEL | PANEL THE LOADS FROM THE MULLION ENDS. o
T CENTERLINE CENTERLINE CENTERLINE CENTERLINE 2 = =8
. 2 <+
| — / SN | S— | PROBUCT REVI g 3
T ] i 1 — SED ;
6" MAX. | [T I T I P11 |1 I © uax eaomplying with the Forda 2 N\
P‘ ] HH' — g %
(™) 377 MAX. & 8 33 __l (TYP.) , S ;N‘ >
NAILING FIN IS OPTIONAL & MAY BE - 37" MAX. Date = g
SCOD 4 FEIOLD I e EXTERIOR_ELEVATION .
FIN SHALL NOT ACT AS A SUBSTITUTE FOR OXXO UNIT WITH OUTSWING DOOR AND TRANSOMS THIS DOOR ALSO APPLIES ~TRAWING O, REA/.
THE FRAME SHEAR SCREWS SPECIFIED) SCALE: 3/4” = 1'=0" WITHOUT TRANSOMS. 1211
(SEE OTHER ELEVATIONS FOR DETAIL NOT SHOWN) ZHEELFNOS




[oRAWN BY:  JCHECKED BY:

}
CONTINUQUS SEALANT ROOFING NAIL OR NO.

CONTINUOUS MIN. 2X4 KPS. WW.S.
ROOFING NAIL OR NO. - A :
= DRYWALL SCREW SEALANT BEHIND FIN ROOFING NALL OR NO. /- BEFIND TN BY OTHERS 7 DRYWALL SCREW BUCK/FRAMING & BUCK o P s
WITH. NA BY OTHERS YWALL SCREW WITH NAILING FIN ATTACHMENT BY OTHERS
NAILING FiN MIN. 2X4 WITH NAILING FIN MIN. 2x4 (SEE SHEET 1) w
(SEE SHEET 1) BUCK/FRAMING & BUCK  (SEE SHEET 1) gggi/;mgﬂ&% FRAME SCREW PER FRAME SCREW 5
ATTACHMENT BY OTHERS oY OTHERS ELEVATIONS (MAY BE _ _ PER ELEVATION
_: S e | BYOMERe 77 .. POSITIONED AT THIN OR Cala . T 2
4l % 54 R A B - THICK SECTION OF JAMB) B -
. .4 .. Ta 8 4 - ,. . < a
i
1/4" MAX. 1/4" MAX. 1 4" MAX T
_ SHIM AT ~  SHIM AT e 2
IRt EACH NG EACH ANCHOR N\ ey n EACH ANCHOR z
AT ANCHOR ST 5 g
: 3 — SEALANT BY - o 2
] - - 5 OTHERS el 2
1 ' .
SEALANT , 2
51 14 14
14 BY 51
( OTHERS ( @® 47 C \@ "
% | M S
HORYC 2932 CONTINUOUS SEALANT—] 8 <
SEALANT BY -/ 1 BEHIND FIN N6 g
STRIKE SCREW BY OTHERS 8P
INTO SUBSTRATE 59 © W %0
Dt \ (REF. ELEVATIONS) /@ § ﬁ@
FRAME CORNER Z 5= |
SCREW PER EEENELGZN'NG\ - g = Zgﬁ
—T = ELEVATIONS (MAY -~ ‘ o D N
Y O NN =" POSITIONEZD AT NN SHEET 7 ¢ NN S 3 %,
/ . \| THIN OR THICK // NN / N ol = 552
'ﬁ% \ SECTION OF JAMB) = N l y \ iy z| vz
| N ’:; [ BN ’:; \ | T = 14 Ll_jz
\ S \ w \ / S ey 2
\ ~ \ ~ SlEE ©
AN / = Ny / = AN , // = o3
~——~ & ~_ - & Jairedey 3 cE=
SEE GLAZING & SEE GLAZING i z
EXTERIOR DETAIL ON = EXTERIOR DETALL ON = EXTERIOR - i
SHEET 7 = SHEET 7 = D7) = L S
z & : =L’ ﬁé_ Q 2 z 7
L / i @ //// 5 ﬁ 28
Y @ 7 V4 129, SILL SCREW O| Y<,Bl
oo 5.8
,—ngLF%EV%o‘F;EAFER W — SILL MIDSPAN A, PER ELEVATION ; 250
ELEVATIONS. (MAY Ar EEERV%SONPSER S| «ZE5,
BE POSITIONED IN /_@ 3| #3538
WOOD OR VINYL < | ua ;]
AREA OF SILL) SILICONE 4 058 2ER
L SILICONE r;%&%"E‘EDIN o BACKBEDDING F 290 25z
BACKBEDDING E Sz EEy
< - o
— Q I
3 SILICONE 2O °F _°
2 BEAD /@ .
3 a
- z g@
SIS &
— 2| w &g
PRODUCT REVISED & N '
SUBSTRATE Boding g, b the Flaridy S z
SUBSTRATE BY OTHERS 56 — STRIKE_FASTENER SUBSTRATE el - E:
BY OTHERS (REF. ELEVATIONS) BY OTHERS I
SECTION /AN SECTION /BN SECTION D DRA\{«% 1NO. REA/.
SCALE: 1/2 FULL \5/J SCALE: 1/2 FuLL \5/ SCALE: 1/2 FULL \&5/ N v ng e NG,
(FOR DETAIL NOT SHOWN, SEE SECTION "A”) .. 5 o 8




1/4” MAX.
SHIM AT —
EACH ANCHOR

MIN. 2X4
BUCK/FRAMING &
BUCK ATTACHMENT
BY OTHERS

NAIL FIN SCREW
PER ELEVATIONS

FRAME WIDTH (F.W.)

SEE GLAZING
DETAIL ON
SHEET 7

HINGE SCREW
INTO BUCK (2
PER HINGE PER
ELEVATION)

SEALANT BEHIND
FIN BY OTHERS

37)38140

SECTION /1
SCALE: 1/2 FULL \_6/
(ADJUSTABLE HINGE CONFIGURATION)

SEALANT BY
OTHERS

57 D
SILICONE SEALANT
W 1843 AN
45 44 /
N 58 7 \
h (
59
H /
< N ~
— SEE GLAZING
@—/ 8IS DETAIL ON
, SHEET 7

43 HAQD

®

SECTION /DY
SCALE: 1/2 FULL \6./
1/4” MAX. )
SHIM AT  — FRAME WIDTH (F.W.) 1/4" MAX. FRAVE WIDTH (FH)
EACH ANCHOR MIN. 2%4 - EACSHHIXNQLOR -
MIN. 2X4 — BUCK/FRAMING &
BUCK/FRAMING &\ - SEE GLAZING BUCK™ ATTAGHMENT .
BUCK™ ATTACHMENT DETAL ON BY OTHERS N )
Y QT e 2
B OTHERS o SHEET 7 FRAME SCREW PER ELEVATIONS —_.: §- I\
HINGE SCREW . (MAY BE POSITIONED AT THIN OR " \ ~
INTO BUCK (2 THICK SECTION OF JAMB) N \
PER HINGE PER N7 _ — o
ELEVATION) N - N\ GH— '.;.':
NAIL FIN SCREW—_ ‘& 48)9 \
PER ELEVATIONS Z NAIL FIN SCREW /
‘ ’( PER ELEVATIONS\
SEALANT BEHIND —_ * " / B (
FIN BY OTHERS N\ _ SEALANT BEHIND —_ * "~ 48
S FIN BY OTHERS

O \_@
39
CUT SCREW OFF .

FLUSH WITH gﬁﬁ’g BY 14
BACK OF JAMB.

SECTION /T2
SCALE: 1/2 FULL \6/

(BUTT HINGE CONFIGURATION)

~——

\
/
/\— SEE GLAZING

DETAIL ON
42 SHEET 7
SEALANT BY 14
OTHERS
— PRODUCT REVISED
23 compiying with the Flerids
W [ od
SECTION /&)
SCALE: 1/2 FULL \_6/

CHECKED BY:
K.P. 5 W.!

W.S.

: DATE:
1=2 02/20/03

REVISION DESCRIPTION

NO.

WEATHER SHIELD WINDOWS & DOORS

MANUFACTURER

ONE WEATHER SHIELD PLAZA

MEDFORD, WI 54451
7157486555

ALUMINUM CLAD FRENCH OUTSWING DOORS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C-204

e ————

DRAWING TITLE

CONSULTANTS
W. W. SCHAEFER ENGINEERING

33410

FL

PHONE: 561-775~4902 FAX: 561-775-4903

PALM BEACH GARDENS,

CERTIFICATION

~"SCHAEFER, P.E.
P.E. NO. 44135

> WARREN

DRAWING NO.

1211

R

SHEET NO.

6 o 8




TIoRaWN BY:  |CHECKED BY:

o 7/16” SOLUTIA KEEPSAFE LAMINATED GLASS KPS, | Wws.
] é!CEOVASTrI\AOSN %’EEW;ETEENS NO. 10 SMS INTO WOOD OR 3/16" CONCRETE - %PTE';CE”[‘SWL *’ }* (3/16" AN./0.090" PVB/3/16" AN.) (o
#10 SMS @ 6" FROM % "B" FOR POSITIONS SCREW INTO CONCRETE (REF. "FRAME ANCHOR FOR GLAZING L e
CORNERS & MAX. 12" 0.C. N CROSS SECTION) REQUIREMENTS TABLE" ON SHEET 1 FOR "
OTHER ANCHOR REQUIREMENTS). 2 ANCHORS S
TUBE MULLION FIXED WINDOW PER STRIKE WHEN INTO CONCRETE; 4 PER i EXTERIOR
PER ELEVATIONS PER WINDOW STRIKE WHEN INTO WOOD. T ] &
APPROVAL W 7/16" MIN.
- GLASS BITE z
&) £
/ g NI CO0CHE
~39) SEE NOTE N\ SHIM AS Z
20) = BELOW z
2 GLAZING DETAIL  REQUIRED 5
i GLAZING OPTION 1) NOVA GUARD BC4—121 STRUCTURAL SILICONE @ INTERIOR ||3
== & NOVA GUARD M418 STRUCTURAL SILICONE @ EXTERIOR
{
IS X i GLAZING OPTION 2) GE SILGLAZE HC STRUCTURAL SILICONE @ INTERIOR & S
§ / . GE ULTRA GLAZE STRUCTURAL SILICONE @ EXTERIOR
% NO. 10 SMS INTO WOOD OR 3/16 GLAZING OPTION 3) DOW CORNING 899 STRUCTURAL SILICONE @ INTERIOR & "
CONCRETE SCREW INTO CONCRETE GE ULTRA GLAZE STRUCTURAL SILICONE @ EXTERIOR @
¢ (REF. "FRAME ANCHOR REQUIREMENTS GLAZING OPTION 4) GE 1311 SILGLAZE HC STRUCTURAL SILICONE @ INTERIOR 8 <
;Q%EEOROSESS,%EETMQNTFS%R OSEERG" & GE RAPIDSTRENGTH SILGLAZE STRUCTURAL SILICONE @ °y
: - EXTERIOR 8 7
OPTIONAL ADA SILL DETAIL  FROM EACH END OF SILL AND 2 AT GLAZING OPTION 5) DOW CORNING 899 STRUCTURAL SILICONE @ INTERIOR & o -2
SILL SCREWS SHOWN CONSIDER A SILL MIDSPAN SPACED 6" APART. DOW INSTANTGLAZE STRUCTURAL SILICONE @ EXTERIOR Z d3g
DOUBLE DOOR CONDITION. ~ AT GLAZING OPTION 6) SIKA SIKAFLEX 552 STRUCTURAL SILICONE @ INTERIOR & 356
SINGLE DOORS, ONLY 3 SILL SCREWS EXTERIOR nl| 20z}
A ARE REQUIRED (6" FOR SILL ENDS NOTE: GLAZING OPTIONS 1,.2 & 3 ONLY ALLOWABLE FOR gl = =N
AND AT SILL MIDSPAN). STRIKE 4.563 — . D.LO. 25 7/16" X 79 15/16” AND SMALLER. GLAZING Q1] 9 xx |
SCREWS ONLY NEED TO PENETRATE ' OPTIONS 4, 5 & 6 ARE ALLOWABLE FOR ALL SIZES. " ZPw0
THRESHOLD AT SINGLE DOOR. — u s I 21 & <gar
= =
SECTION (7 1.250 i ! 2788 AT
SCALE: 1/2 FULL 7./ 0509 |} N \\,—] 1.393 "“ 3 5% ©
Q
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) . 1 938 —] ! L By
S |2
1/4" WA, 2" X 5" X 1/8" @HEAD & SIDE_JAMB (Q)SLL Javg  O7" sl ease | 2F
SHIM AT — FRAME WIDTH (F.W.) TUBE MULLION #10 SMS SCREWS PER =L DROL £l o 3
EACH ANCHOR (MIN. 6063~T5 ELEVATION (SEE SECTIONS 0.687 al 2 .3
FRAME SCREW 1 ALUMINUM) , *C1", "C2" & "H" FOR 2.406 TO : _L 3 i TEE
PER ELEVATION N\ - ' _\ POSITIONS IN CROSS SECTION) 4.500 4.762 —ﬁ oaes Il O E<oB1
2.218 : =| 5254
\ ) a7\ 2.171 ? D =z o Oy
MIN. 2X4 4849 ~— 1.939 —-4 z | W ggz
BUCK/FRANING &~ ) = ﬁé E2
BUCK A ; 583
By OTHgFTgCHMENT,_, 1 (6)0AK THRESHOLD || 2 | &3 £33
g ) (DIop RAL  (5NARROW SIDE RAL LEGACY L [, 25 ¢
~ = |z0% 2 5
NAIL FIN SCREW 27 4038
PER ELEVATIONS _\ D — | 9.500 : |2 =% 82y
R z ~ g ;‘ %
| 4 2.122 = = -
SEALANT BEHIND: uj
FIN BY OTHERS \ T, y e 5 oo
s e w
EXTERIOR S o> B 23
& (i®) " g BOTTOM _RAIL  propuct ReviSED g
51 ~ -
EXTERIOR O 1 ’r‘ 0.500 Buiding Cade b
/]

i 12
SEALANT BY —T
OTHERS @/ “‘ 1.094 F 0279T

DRAWING NO. |R|

SECTION /R SECTION /70N @ ASTRAGAL 1211
: SCALE: 1/2 FULL \7 GLAZING STOP ’
SCALE /2 FULL A (FOR DETAIL NOT SHOWN, SEE %TH/ER SECTIONS) SCREW _CAP I 7 o 8




e

r“""‘_ =S T ~ ||ORAWN BY: |CHECKED BY:
[[rem #] DRAWNG # | ITEM DESCRIPTION MANUFACTURER/NOTES ‘ " KPS. WWS.
PARTS ————————— 4,762 —————— 4.762 ———l l-— 1.750 ——I e 2 DAgg'/zo/c:s
1_ | 08—1006-C2503 |HEAD & SIDE JAMB * WOOD _
2| 08-0002-W2402 |SILL JAMB * WOOD p “
3 | 08-0004-W2402 |SILL BASE * WOOD <
I 4 [ o8-1072-Ww2427 |TOP RAIL * WOOD
" 5 | 08—1075-W2427 | NARROW SIDE_RAIL * WOOD 2.219 2.219 2.250
6 0B-W5074 | OAK THRESHOLD LEGACY * WOOD
7 | 08-1071-W2427 |BOTTOM RAIL * WOOD
8 08-1680—02 | GLAZING STOP * WOOD f f z
E] 08-W8075 ASTRAGAL SCREW CAP * WOOD - £
10| 08—1087-C2537 | HINGE STILE * WOOD z
11| Go-106e-Czs37 |L0CK STLE ooy (10) HINGE_STILE (11) LOCK_STILE (12)INTERIOR ASTRAGAL |i3
12 | 08-1611-02__ |INTERIOR ASTRAGAL * WOOD 2
13| 08=1089—C2537 |INACTVE MEETING STILE * WOOD o
14| 04-0004-C2403 |HEAD & SIDE FRAME CLADDING 6063-T5 OR 6063—T4 ALUMINUM 4.762 ! =
15| 04—0009-W2402 |SILL JAMB CLADDING 6063—15 ALUMINUM | =
16 | 04-0056—C2427 |TOP RAIL PROFILE 6063—T5 ALUMINUM —=— 0.050 3.348 p
17 | 04—0016-C2033 |STILE_PROFILE 6063—T5_ ALUMINUM 1.500 l =
18 | 04-0018—C2033 |NARROW STILE PROFILE 6063—T5 ALUMINUM — 1.200 f=— 2.141
19| 04-0015-C2022 |BOTTOM RAIL PROFILE 5063-T5 ALUMINUM 2.219 0.075 0
20 | 04—0050—W1802 |HANDICAP SILL 5063—T5 ALUMINUM D = 1.424 o
21 | 04—0011-W2487 |EXTERIOR ASTRAGAL COVER 6063—T5_ALUMINUM 8 «
22 04—A1621 MULLION COVER 6063—T75 ALUMINUM -f —_ l O N
25 | 02-1514-02__|BOTIOM SWEEP VINYL e 2.914 -——"'I 3 9
24 | 04—0010-W24B7 |ASTRAGAL BASE 6063—T5 ALUMINUM os
25 | 02-0005-W2402 | THRESHOLD VINYL N At o
s —sbos iaAos | SroNARY S FILLER P i (13) INACTIVE MEETING HEAD & SIDE (15) SILL_JAMB 2938
27A_| 12-0017-W2471 | GROMMET PVC STILE FRAME CLADDING CLADDING a T _©
278 | 12-0209-W2536 | SINGLE_PANEL GROMMET PVC I _ nl| £ 0=
28 12-1557-02 _ |HEAD JAMB BACKER PLATE (10.125" X 4.50" X .080") STAINLESS STEEL 5.000 l 5014 —— 2.768 g = rs3
29 | 12-0011-W2401 |SINGLE DOOR TOP BOLT STRIKE PLATE (1.495" X 1.320" X .119") [304 S.S. : : { S| olug h
30 12-1463-02__ | SINGLE DOOR SILL BOLT STRIKE PLATE (2.853" X_.800° X .120") [304 SS. 0.050 | r 0.050 ol d =00
31 12-1464—-02  |DOUBLE DQOR SILL STRIKE PLATE (4.000" X 2.817" X .1257) 304 S.S. ‘ r 0.654 % 0.050 _.f g o T ﬁg ~
32 12-1465-02 | DOUBLE DOOR HEAD STRIKE PLATE (5.634" X 1.762° X .060") 304 SS. 0.616 f 7 0.654 %{ f D . z| v zu
33| 12-0013-W2403 | TONGUE STIKE PLATE (5.000" X 1.000" X .059") 304 S.S. ' i f % T L
34 | 12-0211-W2596 |ADA SINGLE DOOR STRIKE PLATE (3.028° X 1.000" X .060") 304 S.S. ‘*_‘ f i g% =z
35 | 12-1291-02 | PANEL CORNER REINFORCEMENT BAR (10.100" X 1.000° X .120") |304 SS. — 1 PER PANEL CORNER : @ TOP RAIL PROFILE @_STILE PROFILE 'NARROW STILE 3 e °
36 12-1286-02 | SINGLE DOOR_STILE LOCK STRIKE (9.331" X 1.320" X .118") 304 S.S. PROFILE o
HARDWARE | —_———= EE) ‘g;
37 | 12-0001—W2477 | VERTICAL ADJUSTABLE HINGE (PLATED STEEL OR S.S.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD 10.000 0.100 e 5500 A E4
38 | 12-0002-W2477 | HORIZONTAL ADJUSTABLE HINGE (PLATED STEEL OR S.S.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD ‘ r : ; : L
39 12-1594=02__ |4 X 4 BUTT HINGE (PLATED STEEL OR S.S.) HAGER 1191 Talll S 3
40 12-1718-02 | VARIANT HINGE (PLATED STEEL OR S.S.) SIMONS—WERK 0.616 %’i f J 0.592 ﬁ% ?ﬂ o Z = 3
41 12-1601—02__ | 10 MM SHOOT BOLT GUIDE NYLON 6, 30% GLASS FIBER = | B qee
42| 12-1624-02 | ACTIVE HANDLE SET WITH KEYED CYLINDER AS_REQUIRED TO OPERATE DOOR LOCKS f ‘ BOTTOM_RAIL PROFILE ] | ol weedt
43 12-1625-02__ | INACTIVE HANDLE SET AS REQUIRED TO OPERATE DOOR LOCKS i.N__ 0.045 0.056 = %u.' %dﬁ
44 12-1607—02 | 2—POINT CONCEALED INACTIVE PANEL LOCK SET HOPPE > .0k,
45 12-1558-02 | .38 TOP & BOTTOM EXTENSION ROD CONCEALED HOPPE_NORTH_AMERICA HLS SERIES | 6.531 f @MULUON COVER _'_'z_) wo gg&
46 12-1576-02___|5-POINT ACTIVE PANEL_LOCK ASSY. W/SHOOT BOLTS HOPPE_NORTH AMERICA HLS 9000 SERIES 0.110 = | xiE 23,
1.750 1.197 > W, &8
SEALS & SEALANTS r & | &332
47 | 12-0050-W2463 |HEAD & SIDE TFT WEATHERSTRIP POLYPROPYLENE W 0.500 & 5 634 <| YoEL]
48| 12-0005-P2262_|INTEK ARLOC_ WEATHERSTRIP VINYL y  |.E55 =55
49 12-1602-02__ | AMESBURY WEATHERSTRIP VINYL f ! ﬁ P . E |z0° 02
FASTENERS (20) HANDICAP SILL EXTERIOR T 11 >k Ez2s
50 - F16 X_1 1/2" BRAD NAL 2" FROM ENDS & 13" MAX. 0.C. e s |33 8%y
51 - 3/16" X_1/2 SIAPLE 3" FROM ENDS & 20° MAX. O.C. ASTRAGAL COVER 0.070 = 15 2 z
52 = NG. 8 X 2 1/2° DRYWALL SCREW 3" FROM ENDS & 16" MAX. 0C. - 1.967 — : L
53 - NO. 7 X 5/8" FH WOOD SCREW 8 PER HEAD JAMB BACKER PLATE .
54 = NO. 7 X 5/8" FH WOOD SCREW 2 PER HEAD STRIKE PLATE —1.650 0.120 ——' - 1.753 @BOTTOM SWEEP o
55 - NO. B X 1 1/4" WOOD SCREW 4 PER CORNER REINFORCEMENT PLATE , 0.090 210
56 - NO. 8 X 1 1/2° FH SMS_SCREW 1 PER SINGLE/Z PER DOUBLE STRIKE PLATE f } 3 s
57 = NO. 8 X 3 FH WOOD SCREW 2° FROM ASTRAGAL ENDS & 6 O.C. ¢ ) D E 23
58 - NO. 8 X 2° FH DRYWALL SCREW 1 1/2° & 2 1/2° FROM PANEL ENDS 1.442 (’:' ]— 1.396 0.703 PROBUCT Ri S ’a’,g\
59 = NG. 8 X 1 _1/4" WOOD SCREW 10" FROM ASTRAGAL ENDS & 8 0.C. l 0.125 ; = S
60 = NO. 8 X 1 1/4" WOOD SCREW 4 PER ADJUSTABLE HINGE INTO STILE } , o 1=y
61 = NO. 12 X 1 1/4" FH WOOD SCREW 4 PER BUTT HINGE INTO STILE ol &= &
62 - NO. 8 X 5/8" FH WOOD SCREW 2 PER ADJUSTABLE HINGE INTO JAMB , ASTRAGAL BASE @ THRESHOLD STATIONARY SILL 2 é
63 - NO. 12 X 1 1/4" FH WOOD SCREW 2 PER BUTT HINGE INTO JAMB - FILLER CLIP =
64 - NO. 18 X 1/2° X 1" S.S. STAPLE 2" FROM ENDS & 4 10 6 O.C. A e
* WOOD USED WITH TEST UNITS WAS SELECT WESTERN PINE. ALTERNATE WOOD SPECIES TO BE DRAWING NO. |REV.
APPLICABLE WITH THESE WINDOWS IS MIN. SELECT MAHOGANY, SOUTHERN PINE, OAK, CHERRY, 1211 A
MAPLE, DOUGLAS FIR & CYPRUS. SHEET O
8 or 8




